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ZYNTET.

KOPY®ON

ATPOTEMAXIQY 1

o/ X

Y

BOM764.69

417689942

501760.32

£176893.65

501710.28

4176917.86

51668.27

4176937 .68

501650.53

£176945.80

501652.95

£176951.83

M|TO|M|=| D>

501733.73

£17691£.05

ZYNTETATMENEY KOPY®ON
ArPOTEMAXIQY 2

a/a X

i

50160216

4176996.03

501625.65

417699257

501660.09

417696959

501656.51

4$176960.68

50162818

4176979.48

BE ] =€ | = |2

501615.80

HT76987.67

LYNTETATMENES K
ArPOTEMAXIOY 3

a/a X

Y

501650.53

417694580

51643.09

417692728

501587.85

447695072

50156398

4176960.96

501538.37

417697233

50155256

447659555

501567.35

417700943

50160216

4176996.03

50161580

4A765987.67

50162818

17697948

501656.51

4176960.68

VD ONNZI=Z|Z|R[(O|IZ|IN|M

501652.95

4176951.83

amxorizaodly Losg




